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TNPSC GROUP I RAPID test batch – 2020 
TEST I – GENERAL SCIENCE 

 

1. Match the following  
 List I     List II  

A. Flowering Plant   1. Riccia  
B. Non-Flowering Plant  2. Cycas  
C. Gymnosperms   3. Mango 
D. Angiosperms   4. Sun flower  

  A B C D 
 a. 4 2 1 3  
 b. 4 3 2 1 
 c. 4 1 2 3  
 d. 4 2 1 3  

nghUj;Jf: 
 thpir I   thpir II  
A. G+f;Fk; jhtuk;  1. hpf;rpah  
B. G+thj; jhtuk;  2. irf;f]; 
C. [pk;Ndh];ngh;k;  3. kh 
D. MQ;rpNah];ngh;k;  4. #hpa fhe;jp  

  A B C D 
 a. 4 2 1 3  
 b. 4 3 2 1 
 c. 4 1 2 3  
 d. 4 2 1 3  
 

2. Which of the following is protein Deficiency disease?  
a. Kwashiorkor  b. Marasmus   c. A and B  d. Rickets  
gpd;tUtdtw;Ws; vJ Gujrj;J Fiwg;ghl;L Neha;  
a. Fth~;Nahh;fh; b. kuh];k];  c. A kw;Wk; B  d. hpf;nfl;]; 

 
3. Male gamete fuses with the female gamete to form zygote. This process is known as 

_______. 
a. Self-pollination    b. Cross pollination  
c. Fertilization    d. All of these  
Mz; Nfkpl; ngz; Nfkpl;Lld; ,ize;J irNfhl; cUthfpwJ. ,e;epfo;r;rp ________ vd 
mwpag;gLfpwJ. 
a. jd; kfue;jNrh;f;if   b. may; kfue;j Nrh;f;if  
c. fUTWjy;    d. Nkw;$wpa midj;Jk; 
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4. A root growing form a location other than the underground, such as from a stem or leaf is 
called as _______. 
a. Tap root   b. Fibrous root  
c. Fusiform root   d. Adventitious root  
rpy jhtuq;fspy; Nth;fs; epykl;lj;jpw;F Nky; jz;bNyh> ,iyfspNyh fhzg;gLfpd;wd. 
,it _______ vd miof;fg;gLfpd;wd.  
a. Mzp Nth;   b. ry;yp Nth;  
c. gpA+rpghh;k; Nth;  d. khw;wpl Nth;  

 
5. What type of genetic materials found in virus?  

a. DNA   b. RNA c. a or b  c. only b  
itu];fspy; ve;j tifahd kuGg;nghUs; fhzg;gLfpwJ?  
a. DNA   b. RNA c. a my;yJ b d. b kl;Lk; 

 
6. Which of the following are Eukaryote? 

a. Chlamydomonas    b. Sargassum  
c. Yeast     d. All of these 
gpd;tUtdtw;Ws; vit A+NfhpNahl; MFk;?  
a. fpshkpNlhNkhdh];   b. rh;fhrk;  
c. <];l;    d. ,it midj;Jk;  

 
7. Which of the following is Bio fertilizers?  

a. PSM   b. VAM fungi   
c. Cyanobacteria   d. All of these  
gpd;tUtdtw;Ws; vit caphp cuq;fs;?  
a. PSM    b. VAM G+Q;ir 
c. raNdhghf;Bhpah  d. ,it midj;Jk;  

 
8. Match the following:  

 Algal    Class  
A. Bluegreen algae  1. Chlorophyceae  
B. Green algae  2. Cyanophyceae 
C. Brown algae  3. Phaeophyceae 
D. Red algae    4. Rhodophyceae 
 A B C D 
a. 1 2 3 4 
b. 3 1 2 4 
c. 2 1 3 4 
d. 4 1 2 3 
nghUj;Jf:  
 ghrp    tFg;G  
A. ePyg;gr;irg; ghrpfs; 1. FNshNuhigrpNa 
B. gr;irg; ghrpfs;  2. raNdhigrpNa 
C. gOg;Gg; ghrpfs;  3. NgNahigrpNa  
D. rptg;G ghrpfs;  4. NuhNlhigrpNa  
 A B C D 
a. 1 2 3 4 
b. 3 1 2 4 
c. 2 1 3 4 
d. 4 1 2 3 
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9. Which of the following is male sex organ of mosses?  
a. Archegonium   b. Anthoceros  
c. Antheridium   d. Lycopodium  
gpd;tUtdtw;Ws; vit kh];fspd; Mz; ,dg;ngUf;f cWg;G MFk;. 
a. Mh;f;fpNfhdpak;  b. Me;Njhnru]; 
c. Me;jphpbak;  d. iyf;NfhNghbak;  

 
10. Find the correct statements about Gymnosperms. 

1. It has two phases in its life cycle 
2. They have well developed vascular tissues. 
3. The water conducting tissue is tracheid  
4. The food conducting tissue is sieve cell. 
a. 1, 2, 3 4 correct    b. 1, 2, 4 incorrect  
c. 1, 2 correct 3, 4 incorrect   d. 1, 2 incorrect 3, 4 correct 
[pk;Ndh];ngh;k;fs; gw;wpa rhpahd thf;fpaq;fisf; fz;Lgpb.  
1. [pk;Ndh];ngh;k;fspd; tho;f;ifr; Row;rpapy; ,Uepiyfs; fhzg;gLfpd;wd.  
2. ,tw;wpy; ed;F tsh;r;rpaile;j flj;Jk; jpRf;fs; cs;sd.  
3. ePiuf; flj;jf;$ba jpRthdJ l;uhf;fPLfshFk;  
4. czitf; flj;jf;$ba jpRthdJ ry;yil nry;yhFk;  
a. 1, 2, 3, 4 rhp    b. 1, 2, 4 rhpay;y  
c. 1, 2 rhp 3, 4 rhpay;y  d. 1, 2 rhpay;y 3, 4 rhp  

 
11. Xylem is composed of ________ component  

a. 3   b. 4   c. 2  d. 5  
iryk; ________ $Wfshy; MdJ 
a. 3   b. 4   c. 2  d. 5  

 
12. Mitosis was first discovered by ________. 

a. Alexander Fleming   b. W. Fleming  
c. Robert Hooke   d. Robert Brown  
Kjd; Kjypy; ikl;lhrp]; ________ vd;gtuhy; fz;Lgpbf;fg;gl;lJ. 
a. myf;];rhz;lh; /gpsk;kpq; b. W. /gpsk;kpq; 
c. uhgh;l; `Pf;    d. uhgh;l; gpnusd;   

 
13. Which phase takes a longer duration in meiosis? 

a. Telophase I b. Anaphase II  c. Prophase II d. Prophase I  
kpahrp]; gFg;gpy; ve;j epiy ePz;l fhyj;ij vLj;Jf;nfhs;fpwJ? 
a. BNyhepiy – I   b. mdhepiy – II 
c. GNuhepiy – II  d. GNuhepiy – I  

 
14. Match the following 

Nastic Movements   Examples 
A. Photonasty   1. Mimosa Pudica 
B. Thigmonasty   2. Ipomea alba 
C. Thermonasty   3. Tulip flower 
 A B C 
a. 1 2 3 
b. 3 2 1 
c. 3 1 2 
d. 2 1 3 
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nghUj;Jf 
jpir rhuh J}z;ly; mirT vLj;Jf;fhl;L 
A. xspAW tisjy;   1. ikNkhrh Gbfh 
B. eLf;fKW tisjy;  2. INghkpah My;gh 
C. ntg;gKW tisjy;  3. ^ypg; kyu; 
 A B C 
a. 1 2 3 
b. 3 2 1 
c. 3 1 2 
d. 2 1 3 

 
15. The leaves have minute Pores called Stomata and its function is ____ 

a. Transpiration   b. Exchange of Gases 
c. Both a and b   d. Only a 
,iyfspy; fhzg;gLk; rpwpa Jisfs; ,iyj;Jisfs; vdg;gLk; NkYk; ,jd; gzpfs; 
a. ePuhtpg;Nghf;F   b. thA ghpkhw;wk; 
c. a kw;Wk; b    d. a kl;Lk; 

 
16. Match the following  

Minerals   Deficiency Disorders 
A. Calcium   1. Anaemia 
B. Sodium   2. Goitre 
C. Potassium   3. Muscular fatigue 
D. Iron   4. Muscular cramps 
E. Iodine   5. Osteoporosis 
 A B C D E 
a.  5 4 3 1 2 
b. 5 3 4 1 2 
c. 4 3 5 1 2 
d. 4 5 3 1 2 
nghUj;J 
jhJf;fs;   FiwghL Neha;fs; 
A. fhy;rpak;   1. ,uj;j Nrhif 
B. Nrhbak;   2. fha;lu; 
C. nghl;lhrpak;  3. jirr; Nrhu;T 
D. ,Uk;G   4. jir gpbg;G 
E. mNahbd;   5. vYk;Gj;Jis Neha; 
 A B C D E 
a.  5 4 3 1 2 
b. 5 3 4 1 2 
c. 4 3 5 1 2 
d. 4 5 3 1 2 

 
17. Match the following:  

Medicinal plants    Disease cured  
A. Cinchona Tree    1. Leukemia  
B. Indian Snakeroot   2. Malaria  
C. Eucalyptus   3. Blood pressure  
D. Pappaya    4. Headache  
E. Nithyakalyani    5. Dengue  
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 A B C D E 
a. 2 4 3 5 1     
b. 2 3 4 5 1 
c. 2 3 4 1 5   
d. 2 3 1 4 5  
nghUj;Jf:  
kUj;Jt jhtuq;fs;   Fzg;gLj;Jk; Neha;fs;  
A. rpd;Nfhdh kuk;   1. YAf;Nfkpah  
B. rh;g;gfe;jh    2. kNyhpah  
C. ijy kuk;    3. ,uj;j mOj;jk;  
D. gg;ghsp     4. jiytyp  
E. epj;jpa fy;ahzp   5. nlq;F  
 A B C D E 
a. 2 4 3 5 1     
b. 2 3 4 5 1 
c. 2 3 4 1 5   
d. 2 3 1 4 5  

 
18. During water cycle water converts itself into how many forms? 

a. 2  b. 3  c. 4  d. 5 
ePh; Row;r;rpapd; nghOJ ePuhdJ vj;jid epiyfspy; khw;wkilfpwJ. 
a. 2  b. 3  c. 4  d. 5 

 
19. Aestivation found in ______. 

a. Bat   b. Earth worm  c. Polar Bear  d. Sanke  
V];bNt~d; ________y; fhzg;gLfpwJ 
a. ntsthy; b. kz;GO   c. JUt fub  d. ghk;G  

 
20. Vascular tissue system consists of ______ tissues.  

a. Xylem   b. phloem   c. a and b  d. None of these 
th];Fyhh; jpRj;njhFg;G ______ jpRf;fis cs;slf;fpaJ.  
a. iryk;  b. GNshak;  c. a kw;Wk; b  d. ,it vJTkpy;iy 

 
21. Chloroplasts are given plastids containg green pigment called ______. 

a. Chromophil  b. Leucophyll  c. chlorophyll d. epiphyll 
_____ epwkpfis nfhz;Ls;s fzpfk; gRq;fzpfk; vdg;gLk;.  
a. FNuhNkhgpy; b. ypA+f;Nfhgpy;  c. FNshNuhgpy;  d. vgpgpy;  

 
22. Root hairs is made up of _______. 

a. endodermal cells   b. mesodermal cells  
c. epidermal cells   d. endothelial cells  
______ My; Nth;j;J}tpfs; cUthf;fg;gl;Ls;sd.  
a. mfj;Njhy; nry;fs; b. eLj;Njhy; nry;fs;  
c. Gwj;Njhy; nry;fs; d. vz;Nlhj;jPypay; nry;fs;  

 
23. ________ Hormones inhibit plant growth. 

a. ABA b. Ethylene  c. Gibberellins  d. a and b 
jhtu tsh;r;rpia jil nra;Ak; `hh;Nkhd;fs; _______. 
a. ABA  b. vj;jpypd;  c. [pg;uypd;fs;  d. a kw;Wk; b  
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24. Who observed Bakanae disease in rice crops. 
a. Kogl  b. Haagen smith c. Kurosawa  d. F.W. Went 
ney; gaphpy; gf;fhNd Nehia fz;lwpe;jth; ahh;?  
a. fhy;   b. `h[d; ];kpj; c. FUNrhth  d. F.W. ntz;l; 

 
25. How many types of cell have mature pollen grains contained?  

a. 2  b. 3  c. 4  d. 5 
Kjph;e;j kfue;jj;J}s; vj;jid tifahd nry;fis ngw;Ws;sd? 
a. 2  b. 3  c. 4  d. 5 

 
26. Mendel conducted his experiments in the monastery for about ______ years in pea plants.  

a. 6  b. 9  c. 10  d. 11 
nkz;ly; _______ Mz;Lfs; klj;jpy; jq;fpapUe;J mtuJ Nrhjidfis gl;lhzp 
jhtuj;jpy; Nkw;nfhz;lhh;. 
a. 6  b. 9  c. 10  d. 11 

 
27. Which enzymes involves in unwinding of DNA molecule? 

a. Helicase   b. DNA ligase  c. Topoisomerase  d. a and c  
DNA %yf;$W gphpjypy; gq;Nfw;Fk; nehjpfs; vit?  
a. n`ypNf];   b. DNA iyNf];  
c. NlhNgh[NrhnkNu];  d. a kw;Wk; c  

 
28. In India Dr. M.S. Swaminathan joined with Dr. Borlaug in bringing green Revolution by 

introducing _______ wheat varieties. 
a. Australian   b. American   c. Mexican   d. Canadian  
Dr. Nghh;yhFld; ,ize;J ,e;jpahtpy; Dr. M.S. Rthkpehjd; _______ NfhJik tiffis 
mwpKfk; nra;J gRikg;Gul;rpiaf; nfhz;Lte;jhh;.  
a. M];jpNuypad; b. mnkhpf;fd; c. nkf;rpf;fd;  d. fdbad;  

 
29. The chipko movement originated in the ________ district of uttarakhand.  

a. Uttarkashi  b. Champawat  c. Almora   d. Chamoli  
cj;jufhz;l; khepyj;jpy; cs;s _______ vd;Dk; khtl;lj;jpy; rpg;Nfh ,af;fk; Njhd;wpaJ. 
a. cj;jh;fhrp  b. rk;ghtj;  c. my;Nkhuh  d. rhNkhyp  

 
30. The Taj mahal is built with white marble which become yellow due to _______. 

a. Sulphur oxides   b. Nitrogen oxides  
c. thorium oxide   d. a and b  
jh[;k`hy; ntz;ik epw gspq;F fw;fshy; fl;lg;gl;Ls;sJ. mJ kQ;rs; epwkhf 
khwpAs;sjw;fhd fhuzk; _________. 
a. ry;/gh; Mf;irLfs; b. iel;u[d; Mf;irLfs;  
c. Njhhpak; Mf;irLfs; d. a kw;Wk; b  

 
31. Which of the followings are virus?  

a. Cyanophages   b. Mycophages  
c. Bacteriophages   d. All of these  
gpd;tUtdtw;Ws; vit itu]; MFk;? 
a. raNdh/gh[;fs;   b. ikf;Nfh/gh[;fs; 
c. ghf;BhpNah/gh[;fs; d. ,it midj;Jk;  

 
32. Who is considered as the founder of modern bacteriology? 

a. Robert koch  b. Robert Brown  
c. Christian Gram   d. Antonvon Leuwenhauk  



 

7 | Page             APPOLO STUDY CENTRE PH: 044-24339436, 42867555, 9840226187 
 

ahh; mz;ikf;fhy ghf;Bhpaapaypd; Njhw;Weuhff; fUjg;gLfpwhh;?  
a. uhgh;l; Nfhf;  b. uhgh;l; g;nusd; 
c. fpwp];bad; fpuhk;  d. Mz;ld;thd; Y}td;`hf; 

 
33. Match the following: 

Anti-Biotic   Diseases 
a. Streptomycin  1. Tuberculosis 
b. Aureomycin  2. Typhoid fever       
c. Chloromycetin   3. Syphilis  
d. Bacitracin    4. Whooping Cough  
 A B C D 
a. 1 4 3 2  
b. 1 4 2 3 
c. 4 1 3 2 
d. 1 2 3 4 
nghUj;Jf: 
caph;vjph;g;nghUs;  Neha;fs;  
A. ];l;nug;Nlhikrpd;  1. vYk;GUf;fp Neha;  
B. MhpNahikrpd;  2. ilgha;L fha;r;ry;  
C. FNshNuhikrpl;bd; 3. rpgpyp]; 
D. Ngrpl;uhrpd;  4. ff;Fthd; ,Uky;  
 A B C D 
a. 1 4 3 2  
b. 1 4 2 3 
c. 4 1 3 2 
d. 1 2 3 4 

 
34. Which one of the following microorganism has not cellwall? 

a. Bacteria    b. Archeabacteria    
c. Mycoplasma   d. Cyanobacteria 
gpd;tUk; Ez;Zaphpfspy; ve;jnthd;W nry;Rtiu ngw;wpUf;ftpy;iy?  
a. ghf;Bhpah   b. Muf;fpghf;bhpaq;fs;  
c. ikf;Nfhgpsh];kh  d. raNdhghf;Bhpaq;fs;  

 
35. Which of the following antibiotics are derived from fungi? 

a. Cephalosporins   b. Griseofulvin  
c. Ergotamine   d. All of these  
gpd;tUk; caph;vjph;nghUl;fspy; vit G+Q;irapypUe;J ngwg;gLfpd;wd?  
a. nrgNyh];Nghhpd;fs; b. fpiurpNahgy;tpd; 
c. vh;fhl;likd;  d. ,it midj;Jk;  

 
36. Match the following 

Algae    Habitat 
A. Halophytic algae  1. Surface of aquatic plants 
B. Cryophytic algae  2. Snow 
C. Epiphytic algae  3. Salt pan 
 A  B C 
a 3 2 1  
b 1 2 3  
c 2 3 1  
d 3 1 2  
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nghUj;Jf.  
ghrpfs;    thoplk; 
A. N`Nyhigl;bf; ghrp  1. ePh;tho; jhtuq;fspd; Nkw;gug;G 
B. fpiuNahigl;bf; ghrp  2. gdpg;ghiwfs; 
C. vg;gpigl;bf; ghrp   3. cg;gsk; 

A  B C 
a 3 2 1  
b 1 2 3  
c 2 3 1  
d 3 1 2  

 
37. Which one of the following is called “seedless vascular cryptogams”? 

a. Thalophyta  b. Bryophyta  
c. Pteridophyta  d. Spermatophyta 
gpd;tUtdtw;Ws; ve;jnthd;W “tpijfsw;w th];Fyhh; g+thj;jhtuq;fs;” 
vd;wiof;fg;gLfpd;wd? 
a. jhNyh/igl;lh  b. gpiuNah/igl;lh 
c. nlhpNlh/igl;lh  d.];ngh;kl;Nlh/igl;lh 

 
38. Match the following  
 Pollination     Agent  

A. Cantharophily    1. Moths 
B. Phalaenophily    2. Bees  
C. Mellitophily    3. Butterflies  
D. Psychophily    4. Beetle  
 A B C D 
a. 1 4 3 2  
b. 4 1 2 3  
c. 2 3 1 4  
d. 3 2 1 4 
nghUj;Jf: 
kfue;jNrh;f;if   Kfth; 
A. Nfd;jNuh/gpy;yp  1. me;Jg;G+r;rp 
B. /ghypNdh/gpy;yp  2. NjdPf;fs;  
C. nky;ypNlh/gpy;yp  3. tz;zj;Jg;G+r;rpfs;  
D. irNfh/gpy;yp  4. tz;Lfs;  
 A B C D 
a. 1 4 3 2  
b. 4 1 2 3  
c. 2 3 1 4  
d. 3 2 1 4 

 
39. Match the following:  

Organism    Number of chromosomes (2n) 
A. Rice    1. 16  
B. Potato    2. 20  
C. Maize    3. 24 
D. onion    4. 48  
 
 
 



 

9 | Page             APPOLO STUDY CENTRE PH: 044-24339436, 42867555, 9840226187 
 

 A B C D 
a. 4 3 2 1 
b. 3 4 2 1  
c. 3 4 1 2  
d. 2 1 3 4  
nghUj;Jf:  
caphpdq;fs;    FNuhNkhNrhk;fspd; vz;zpf;if (2n)  
A. mhprp   1. 16 
B. cUisf;fpoq;F  2. 20  
C. kf;fhr;Nrhsk;  3. 24 
D. ntq;fhak;  4. 48 
 A B C D 
a. 4 3 2 1 
b. 3 4 2 1  
c. 3 4 1 2  
d. 2 1 3 4  

 
40. Match the following: 

Ploidy    Plant  
A. Trisomy   1. Maize   
B. Tetrasomy   2. Wheat  
C. Double Monosomy 3. Pisum  
 A B C 
a. 1 2 3 
b. 3 1 2 
c. 3 2 1 
d. 2 1 3 
nghUj;Jf: 
 kbak;    jhtuk;  
A. biuNrhkp    1. kf;fhr;Nrhsk;  
B. nll;uhNrhkp   2. NfhJik  
C. ,ul;il khNdhNrhkp   3. igrk;  
 A B C 
a. 1 2 3 
b. 3 1 2 
c. 3 2 1 
d. 2 1 3 

 
41. The term biotechnology was coined by whom? 

a. Karl Ereky  b. Singer and Nicholson    
c. Gilbert   d. Milstein   
caphp njhopy;El;gtpay; vd;w nrhy; ahuhy; cUthf;fg;gl;lJ?  
a. fhh;y; Vh;fp  b. rpq;fh; kw;Wk; epf;fy;rd;   
c. fpy;gh;l;  d. kpy;];Bd;  

 
42. The term ecology was first proposed by Reiter. However the most widley accepted 

definition of ecology was given by whom? 
a. Odum   b. Johnson   c. Ernest Haeckel   d. Grinell     
#o;epiyapay; vd;w nrhy; Kjypy; nua;l;lh; vd;gtuhy; Kd;nkhopag;gl;lJ. #o;epiyapay; 
gw;wpa gutyhf Vw;Wf; nfhs;sg;gl;l tiuaiw ahuhy; cUthf;fg;gl;lJ?  
a. Xlk;  b. [hd;rd;  c. vh;d];l; n`f;nfy;  d. fpiundy;  
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43. The best PH range of the soil for cultivation of crop plants is ___________ 
a. 5.5 to 6.8  b. 5 to 7  c. 4 to 6  d. 5.5 to 8.2 
gaph; jhtuq;fspd; rhFgbf;F kpfr; rpwe;j pH kjpg;G ________ MFk;.  
a. 5.5 Kjy; 6.8 tiu   b. 5 Kjy; 7 tiu    
c. 4 Kjy; 6 tiu   d. 5.5 Kjy; 8.2 tiu  

 
44. Ecosystem as the system resulting from the integration of all the living and non living 

factors of the environment who defined this?  
a. Odum    b. A.G. Tansley  
c. Reiter    d. Ernest Haeckel  
#o;epiykz;lyk; vd;gJ "Rw;Wr;#oypd; midj;J capUs;s kw;Wk; capuw;w fhuzpfis 
xUq;fpizg;gjd; tpisthf mike;j mikg;ghFk;" ,ij ahh; tiuaiw nra;jhh;?  
a. Xlk;   b. A.G. lhd;];yp 
c. nua;l;lh;   d. Vh;d];l; n`f;nfy;  

 
45. Give an example of Decomposers  

a. Bacteria    b. Actinomycetes  
c. Fungi    d. All of these  
rpijg;gitfSf;F vLj;Jf;fhl;L jUf.  
a. ghf;Bhpaq;fs;   b. Mf;bNdhikrPl;Lfs;  
c. G+Q;irfs;   d. ,it midj;Jk;  

 
46. Who proposed the ten percent law? 

a. A.G. Tansley   b. odum  c. Lindeman   d. Vernadsky  
gj;J tpOf;fhL tpjpia Kd;nkhope;jth; ahh;?  
a. A.G. lhd;];yp   b. Xlk;  c. ypd;bNkd;  d. nth;dhl;];fp  

 
47. Species are protected outside their natural environment which is called ________ 

a. In – Situ conservation  b. Ex-Situ Conservation 
c. Cryo Preservation   d. Field gene 
rpw;wpdq;fs; ,aw;f;ifr; #oYf;F ntspNa ghJfhf;fg;gLtJ ________ vd;W 
miof;fg;gLfpwJ. 
a. thoplg; NgZif    b. Gwthoplg; NgZif  
c. Fsph;ghJfhg;G    d. fs kugZ tq;fp  

 
48. Match the following  
 Vitamin     Symptoms  

A. Vitamin A    1. Bleeding Gums  
B. Vitamin B    2. Nervous Weakness  
C. Vitamin C    3. Poor vision  
 A B C  
a. 3 2 1  
b. 2 3 1  
c. 1 2 3  
d. 1 3 2  
nghUj;Jf: 
 itl;lkpd;   mwpFwpfs;  
A. itl;lkpd; A   1. <Wfspy; ,uj;jf; frpT  
B. itl;lkpd; B  2. euk;G gytPdk;  
C. itl;lkpd; C  3. Fiwthd fz;ghh;it  
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 A B C  
a. 3 2 1  
b. 2 3 1  
c. 1 2 3  
d. 1 3 2 

 
49. Consider the following statements  

Assertion (A) : Dehydration can be prevented by Consuming ORS at short intervals.  
Reason (R) : ORS contains salt, sugar, electrolytes and water  
a. Both (A) and (R) are correct and (R) is the correct explanation to (A) 
b. Both (A) and (R) are correct but (R) is not the correct explanation to (A)  
c. (A) is true but (R) is false  
d. (A) is false but (R) is true  
gpd;tUk; thf;fpaq;fisf; ftdp:  
$w;W (A): FWfpa ,ilntspapy; ORS fiuriy cl;nfhs;tjd; %yk;  
   mjpf ePh; ntspNaw;wj;ij jLf;fyhk;.  
fhuzk; (R): ORS fiury; cg;G> rh;f;fiu> vyf;l;Nuhiyl;Lfs; kw;Wk; ePiuf;nfhz;Ls;sJ.  
a. (A) kw;Wk; (R) rhp NkYk; (R) vd;gJ (A)f;F rhpahd tpsf;fk;  
b. (A) kw;Wk; (R) rhp Mdhy; (R) vd;gJ (A)f;F rhpahd tpsf;fk; my;y  
c. (A) rhp Mdhy; (R) jtW  
d. (A) jtW Mdhy; (R) rhp  

 
50. Match the following:  

Bacterial Diseases  Mode of transmission  
A. Cholera   1. Contaminated food or water  
B. Pneumonia  2. Contaminated water  
C. Typhoid   3. inhalation of airborne droplet from sneeze or cough. 
D. Tetanus   4. Contamination of wounds with the bacteria  
 A B C D 
a. 2 3 1 4  
b. 1 2 3 4 
c. 3 2 1 4  
d.  3 1 2 4 
nghUj;Jf: 
ghf;Bhpah Neha;fs;    guTk; Kiw  
A. fhyuh    1. mRj;jkhd czT my;yJ ePh;  
B. epNkhdpah   2. mRj;jkhd ePh;  
C. ilgha;L    3. ,Uky; kw;Wk; Jk;kypd; NghJ ntspg;gLk; fhw;W  

jptisfis Rthrpj;jy;  
D. nll;ld];   4. ghf;Bhpahf;fspdhy; jhf;fg;gl;l fhaq;fs;  
 A B C D 
a. 2 3 1 4  
b. 1 2 3 4 
c. 3 2 1 4  
d.  3 1 2 4 
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51. Match the following:  
 Diseases     Microorganism  

A. Amoebic dysentry   1. Plasmodium  
B. Malaria     2. Entamoeba histolytica  
C. Anthrax    3. Apthovirus  
D. Foot and mouth disease  4. Bacillus anthracis  
 A B C D 
a. 2 1 4 3  
b. 1 2 4 3 
c. 3 2 4 1  
d. 2 3 4 1  
nghUj;Jf: 
 Neha;fs;    Ez;Zaphpfs;  
A. mkPgpf; rPjNgjp    1. gpsh];Nkhbak;  
B. kNyhpah      2. vz;lkPgh `p];lhiybfh 
C. Me;j;uhf;];    3. Mg;Njhitu];  
D. tha; kw;Wk; fhy; Fsk;G Neha;  4. Ngrpy;y]; Me;j;uhrp];  
 A B C D 
a. 2 1 4 3  
b. 1 2 4 3 
c. 3 2 4 1  
d. 2 3 4 1  

 
52. Our body is developed from a single cell which name is _______  

a. Sperm   b. ovum   c. Zygote   d. Epithelial cell  
ekJ clyhdJ xw;iw nry;ypypUe;Nj cUthf;fg;gLfpwJ. ,jd; ngah; ________  
a. tpe;J  b. mz;lk;  c. irNfhl;  d. vg;gpjPypay; nry;  

 
53. Give an example for haemostatics 

1. Whenever the blood glucose level raises insulin hormone is secreted  
2. Whenever the blood glucose level reduces glucagon hormone is secreted 
a. 2 only   b. 1 and 2   c. 1 only   d. None of these       
jd;dpiy fhj;jYf;F (homeostasis) vLj;Jf;fhl;L jUf.  
1. ,uj;jj;jpy; rh;f;fiuapd; msT mjpfhpf;Fk; NghJ ,d;Rypd; `hh;Nkhd; cw;gj;jp 

nra;ag;gLk;  
2. ,uj;jj;jpy; rh;f;fiuapd; msT FiwAk;NghJ FSNfhfhd; `hh;Nkhd; cw;gj;jp 

nra;ag;gLk;  
a. 2 kl;Lk;  b. 1 kw;Wk; 2  c. 1 kl;Lk;  d. ,it VJTkpy;iy  

 
54. Give an example of osmoregulation  

a. Most of the invertebrates b. Marine organisms    
c. Most of the Vertebrates  d. a and b 
CLfyg;G xj;jikthd;fSf;F vLj;Jf;fhl;L jUf.  
a. ngUk;ghyhd KJFehzw;wit  
b. fly;tho; caphpdq;fs;  
c. ngUk;ghyhd KJFehZs;sit  
d. a kw;Wk; b  

 
55. Which is the lowest taxonomic category? 

a. Species  b. Genus  c. Family  d. Order 
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vJ tifg;ghl;baypd; filrp tifahFk;? 
a. rpw;wpdk;  b. Nghpdk;  c. FLk;gk;  d. thpir 

 
56. Match the following: 

Common name  Binominal name 
A. Cockroach  1. Periplaneta Americana  
B. Snail   2. Pila globosa 
C. Star fish   3. Asterias rubens 
D. Frog   4. Rana hexadactyla 
 A B C D 
a. 2 1 3 4  
b. 1 2 3 4  
c. 4 3 2 1  
d. 3 4 1 2 
nghUj;Jf:- 
 nghJg;ngah;  ,Unrhw;ngah; 
A. fug;ghd; G+r;rp  1. nghpgpshNdl;lh mnkhpf;fhdh 
B. ej;ij   2. igyh FNshNghrh 
C. el;rj;jpu kPd;  3. m];bhpa]; Ungd;]; 
D. jtis   4. uhdh n`f;rhlhf;ilyh 
 A B C D 
a. 2 1 3 4  
b. 1 2 3 4  
c. 4 3 2 1  
d. 3 4 1 2 

 
57. Which is the largest amphibian in the world? 

a. Hynobius kimurae  b. Ambystoma Opacum 
c. Andrias davidians  d. Siren Lacertina 
cyfpd; kpfg;nghpa ,Utho;tp vJ? 
a. i`Ndhgpah]; fpKNu  b. mk;ig];NlhNkh xghf;fk; 
c. Md;bhpa]; lhtpbad;];  d. irud; yhrh;bdh 

 
58. Which of the following is minute, anucleated, fragile fragments of giant bone marrow 

called mega karyocytes? 
a. Blood platelets b. Neutrophils c. Monocytes  d. lymphocytes 
gpd;tUtdtw;Ws; vJ kpfr;rpwpa> cl;;fU mw;w nkfhNfhpNahirl;L vdg;gLk; nghpa vYk;G 
k[;i[apd; vspjpy; cilAk; Jz;LfshFk;? 
a. ,uj;jj;jl;Lfs;   b. epA+l;Nuhgpy;fs;                     
c. NkhNdhirl;Lfs;   d. ypk;Nghirl;Lfs; 

 
59. Consider the following statements  

Assertion (A) :  Nerve cells do not undergo cell division. 
Reason     (R) :  The centrioles absent in nerve cells. 
a. Both (A) and (R) are correct and (R) is the correct explanation to (A) 
b. Both (A) and (R) are correct but (R) is not the correct explanation to (A) 
c. (A) is true but (R) is false. 
d. (A) is false but (R) is true  
gpd;tUk; thf;fpaq;fisf; ftdp. 
$w;W  (A) : euk;G nry;fs; nry; gFg;gpw;F cl;gLtjpy;iy. 
fhuzk; (R): euk;G nry;fspy; nrd;l;hpNahy;fs; fhzg;gLtjpy;iy. 
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a. (A) kw;Wk; (R) ,uz;Lk; rhp> NkYk; (R)vd;gJ (A)f;F rhpahd tpsf;fk;. 
b. (A)kw;Wk; (R) ,uz;Lk; rhp> Mdhy; (R)vd;gJ (A)f;F rhpahd tpsf;fk; my;y 
c. (A)rhp; Mdhy; (R) jtW 
d. (A)jtW; Mdhy; (R) rhp   

 
60. Which is the largest salivary gland in human beings? 

a. Sublingual glands  b. Submaxillary glands  
c. Parotid glands   d. Tonsil     
kdpjh;fspy; fhzg;gLk; kpfg;nghpa ckpo;ePh;r; Rug;gp vJ?  
a. ehtbr; Rug;gp   b. jhilr; Rug;gp  
c. Nkyz;zr; Rug;gp  d. lhd;rpy;  

 
61. Which is the longest part of the small intestine? 

a. Duodenum  b. Jejunum  c. Ileum   d. Caecum      
rpWFlypd; kpf ePz;l gFjp vJ?  
a. bNahbdk;   b. [p[Pdk;  c. ,ypak;  d. rPf;fk; 

 
62. Match the following: 

Pancreas Enzymes    Nutrient  
A. Pancreatic Amylase  1. Protein  
B. Trypsin     2. Starch 
C. Chymotrypsin    3. Peptones  
D. Pancreatic lipase    4. Emulsified fats  
 A B C D 
a. 2 3 1 4 
b. 3 2 1 4 
c. 1 2 3 4 
d.     4 3 2 1 
nghUj;Jf: 
fiza nehjpfs;   Cl;lrj;J  
A. fiza mikNy];  1. Gujk;  
B. l;hpg;]pd;     2. ];lhh;r;  
C. ifNkhl;hpg;]pd;    3. ngg;Nlhd;fs;  
D. fiza ypg;Ng];   4. ghy;kkhf;fg;gl;l nfhOg;Gfs;  
 A B C D 
a. 2 3 1 4 
b. 3 2 1 4 
c. 1 2 3 4 
d.     4 3 2 1 

 
63. The human body functions normally at which temperature? 

a. 35°C  b. 36°C  c. 37°C  d. 38°C   
kdpj clyhdJ rhjhuzkhf ve;j ntg;gepiyapy; ,aq;FfpwJ?  
a. 35°C  b. 36°C  c. 37°C  d. 38°C   

 
64. Which cells of the testes provide nourishment to the developing sperms? 

a. Leydig cells  b. Sertoli cells  c. Interstitial cells   d. Stromal cells   
tpe;jfj;jpy; fhzg;gLk; ve;j nry;fs; tsUk; tpe;jZTf;F Cl;lj;jpid toq;Ffpd;wd?  
a. yPbf; nry;fs;   b. nrh;Nlhyp nry;fs;  
c. ,ilr;nry;fs;   d. ];l;Nuhky; nry;fs;  
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65. Match the following:  
 List – I      List – II  

A. World health day    1. 1st December  
B. World Malaria day    2. 7th April  
C. World AIDS day     3. 25th April 
D. World Anti-Tuberculosis day  4. 24th March  
 A B C D 
a. 2 4 1 3  
b. 2 3 1 4  
c. 3 2 1 4  
d. 1 2 3 4  
nghUj;Jf:  
 gFjp – I    gFjp – II 
A. cyf Rfhjhu jpdk;   1. brk;gh; 1 
B. cyf kNyhpah jpdk;   2. Vg;uy; 7 
C. cyf va;l;]; jpdk;   3. Vg;uy; 25  
D. cyf fhrNeha; jpdk;   4. khh;r; 24 
 A B C D 
a. 2 4 1 3  
b. 2 3 1 4  
c. 3 2 1 4  
d. 1 2 3 4  

 
66. Which of the following is the insect vector borne disease?  

1. Chikungunya   2. Dengue   3. Malaria  
4. Filaria    5. Swine flu  
a. 1, 2, 3, 4, 5 correct   b. 1, 2, 3, 4 correct  
c. 2, 3, 4 correct    d. 1, 2, 3 correct   
gpd;tUtdtw;Ws; vJ G+r;rpfs; flj;jp top guTk; Neha;fshFk;? 
1. rpf;Fd;Fdpah  2. nlq;F   3. kNyhpah  
4. /gpNyhpah  5. ];itd; GS  
a. 1, 2, 3, 4, 5 rhp  b. 1, 2, 3, 4 rhp  c. 2, 3, 4 rhp   d. 1, 2, 3 rhp   

 
67. When was HIV first recognised in the world?  

a. 1975  b. 1978  c. 1981   d. 1984  
cyfj;jpy; Kjd; Kjjypy; HIV vg;NghJ fz;Lzug;gl;lJ?  
a. 1975  b. 1978  c. 1981   d. 1984  

 
68. The Human RBCs impart red colour to the blood due to presence of respiratory pigment 

__________.  
a. Hemerythrin    b. Hemocyanin  
c. Heparin     d. Hemoglobin  
kdpj RBC Rthr epwkpahd ________ I nfhz;Ls;sjhy; ,uj;jk; rptg;G epwj;Jld; 
fhzg;gLfpwJ?  
a. P̀k;vhpj;jphpd;    b. `PNkhiradpd;  
c. n`g;ghhpd;    d. P̀NkhFNshgpd;  

 
69. Increase in the number of leukocytes is called as __________.  

a. Leucocytosis    b. Leukopenia  
c. Leukopoiesis    d. Leukoplakia  
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,uj;j nts;is mZf;fspd; vz;zpf;if mjpfhpj;jy; ________ vd;W miof;fg;gLfpwJ.  
a. ypA+f;Nfhirl;Nlhrp];  b. ypA+f;NfhgPdpah  
c. ypA+f;NfhNgha;rp];   d. ypA+f;Nfhgpshf;fpah    

 
70. Which of the following vertebrate animals have four chambered heart?  

a. Aves   b. Mammals   c. crocodiles   d. all of these  
gpd;tUk; KJnfYk;G tpyq;FfSs; vit ehd;F ,ja miwfis ngw;wpUf;fpd;wd?  
a. gwitfs;  b. ghY}l;bfs; c. Kjiy  d. ,it midj;Jk;  

 
71. Who discovered Rh factor?  

a. Landsteiner  b. Wiener   c. steini   d. a and b  
Rh fhuzpia fz;lwpe;jth; ahh;?  
a. Nyz;l;];Bdh; b. tPdh;   c. ];la;dp   d. a kw;Wk; b  

 
72. The brain is covered by _________.  

a. Duramater    b. Arachnoid membrane  
c. Piamater     d. All of these  
%isahdJ ________ ghJfhg;ghd ciwapdhy; #og;gl;bUf;fpwJ. 
a. bA+uh Nkl;lh;   b. muf;dha;L ciw  
c. igah Nkl;lh;   d. ,it midj;Jk;  

 
73. Which of the following is the largest portion of the brain?  

a. cerebrum   b. cerebellum   c. pons   d. Medulla oblongata  
gpd;tUtdtw;Ws; vJ %isapd; ngUk;gFjp MFk;?  
a. nrhpg;uk;  b. nrhpngy;yk;  c. ghd;];  c. KFsk;  

 
74. Which is second largest part of the brain?  

a. cerebrum     b. cerebellum  
c. corpora quadrigemina   d. Basal ganglia  
%isapd; ,uz;lhtJ kpfg;nghpa gFjp vJ?  
a. ngU%is    b. rpW%is  
c. fhh;g;Nghuh Fthl;hpn[kpdh d. Ngry; Nfq;ypah  

 
75. Who introduced the term hormone in 1909?  

a. W.M. Bayliss  b. Thomas Addison   c. E.H. Starling  d. a and c  
1909-y; `hh;Nkhd; vd;w nrhy;iy mwpKfg;gLj;jpath; ahh;?  
a. W.M. Nga;yp];   b. jhk]; mbrd;  
c. E.H. ];lhh;ypq;   d. a kw;Wk; c  

 
76. Melatonin is a hormone produced by which gland?  

a. Adenohypophysis   b. Ceruminous gland  
c. Neurohypophysis   d. Pineal gland  
nkyNlhdpd; `hh;Nkhd; ve;j Rug;gpahy; Ruf;fg;gLfpwJ?  
a. mbNdhi`g;Nghirrp];  b. rpUkpd]; Rug;gp 
c. epA+Nuhi`g;Nghigrp];  d. gpdpay; Rug;gp  

 
77. The excess secretion of the thyroid hormones which leads to _________.  

a. Grave's disease    b. Babinski disease  
c. Christmas disease   d. Cushing's disease  
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ijuha;L `hh;Nkhd;fspd; mjpfhpj;j Rug;gpd; fhuzkhf ________ cz;lhfpwJ.  
a. fpNutpd; Neha;    b. ghgpd;];fp Neha;  
c. fphp];k]; Neha;   d. F~;rpq; Neha;  

 
78. Which of the following secretes aldosterone?  

a. Zona glomerulosa   b. Zona fasciculata  
c. Zona reticularis    d. Adrenal Medulla  
gpd;tUtdtw;Ws; vJ my;Nlh];buhid Ruf;fpwJ?  
a. Nrhdh FshkUNyhrh   b. Nrhdh /gh]pFNyl;lh  
c. Nrhdh nul;bFyhhp];   d. ml;hpdy; nkLy;yh 

 
79. Which of the following is primary reproductive organ in female?  

a. Ovaries   b. Uterus   c. Vagina   d. Fallopian tubes  
gpd;tUtdtw;Ws; vJ ngz;fspy; fhzg;gLk; Kjy;epiy ghy; ,dg;ngUf;f cWg;ghFk;?  
a. mz;lfq;fs;   b. fUg;ig  
c. fytpf; fhy;tha;  d. ngNyhggpad; ehsk;  

 
80. Normally gestation period of human last for about _______ days.  

a. 180  b. 200  c. 240  d. 280 
nghJthf kdpjhpy; fh;g;g fhyk; _______ ehs;fshFk;. 
a. 180  b. 200  c. 240  d. 280 

 
81. Which is the international day against drug abuse and illicit trafficking?  

a. April 26  b. May 26  c. June 26  d. December 26  
kUe;Jfspd; jtwhd gad;ghL kw;Wk; rl;ltpNuhj flj;jy; kPjhd rh;tNjr ehs; vJ?  
a. Vg;uy; 26  b. Nk 26  c. [Pd; 26  d. brk;gh; 26 

 
82. Who pioneered HIV research and treatment in India?  

a. Dr. Suniti Solomon   b. Dr. Anil Aggrawal 
c. Dr. A.K. Patel    d. Dr. Ajmal Ameer  
,e;jpahtpd; HIV Muha;r;rp kw;Wk; rpfpr;irapd; Kd;Ndhb ahh;?  
a. Dr. Rdpjp rhy;Nkhd;  b. Dr. mdpy; mfh;thy;  
c. Dr. A.K. gl;Nly;   d. Dr. m[;ky; mkPh; 

 
83. What is the shape of human stomach? 

a. “C” Shape   b. “S” Shape   c. “U” Shape  d. “J” Shape  
kdpj ,iug;igapd; tbtk; vd;d? 
a. “C” tbtk;  b. “S” tbtk;  c. “U” tbtk; d. “J” tbtk; 

 
84. The roughage is utilized by symbiotic bacteria in the large intestine for the production of 

substance like __________ 
a. Vitamin A  b. Vitamin B12  c. Vitamin K  d. Vitamin D 
ehu;nghUl;fs; ngUq;Flypy; cs;s ,iztho; ghf;Bupahf;fshy; gad;gLj;jg;gl;L 
____________ I cUthfpd;wd.  
a. itl;lkpd; A b. itl;lkpd; B12  c. itl;lkpd; K d. itl;lkpd; D  

 
85. Vomiting action is controlled by the centre located in the ________ 

a. Pons     b. Medulla Oblongata   
c. Cerebellum     d. Corpora quadrigemia 
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the;jp ntspNaw;w nray; _______y; cs;s the;jp fl;Lg;ghl;L ikaj;jhy; 
fl;Lg;gLj;jg;gLfpwJ.  
a. ghd;];     b. KFsk;  
c. rpW %is    d. fhu;Nghuh Fthl;upn[kpdh  

 
86. When Co2 diffuses into the RBCs, it combines with water forming carbonic acid catalyzed 

by ______________ 
a. Carbonic dehydrogenase   b. Carbonic isomerase 
c. Carbonic topoisomerase    d. Carbonic anhydrase 
,uj;jj;jpYs;s rptg;gZf;fSf;Fs; CO2 Eioe;jJk; mq;F ePUld; ,ize;J fhh;ghdpf; 
mkpykhfpwJ. ,t;tpidf;F tpidA+f;fpahff; ________ nray;gLfpwJ.  
a. fhh;ghdpf; bi`l;Nuh[pNd];  b. fhh;ghdpf; INrhnkNu];  
c. fhh;ghdpf; NlhNghINrhnkNu];  d. fhh;ghdpf; md;i`l;Nu];  

 
87. Which is the formed elements of blood? 

a. Erythrocytes   b. Leucocytes  
c. Platelets    d. All of these 
,uj;jj;jpd; Mf;ff; $Wfs; vJ?  
a. ,uj;jr; rptg;gZf;fs;  b. ,uj;j nts;isaZf;fs;  
c. ,uj;jj; jl;Lfs;   d. ,it midj;Jk;  

 
88. Match the following: 

Blood Group    Agglutinin  
A. A    1. No Antibodies  
B. B    2. Antibody A and Antibody B 
C. AB     3. Antibody A 
D. O     4. Antibody B 
 A B C D 
a. 1 2 3 4 
b. 4 3 1 2 
c. 3 4 2 1 
d. 2 3 4 1 
nghUj;Jf:  
,uj;j tFg;G    mf;@l;bdpd;fs;  
A. A     1. Md;bghbfs; ,y;iy  
B. B     2. Md;bghb A kw;Wk; Md;bghb B  
C. AB     3. Md;bghb A 
D. O      4. Md;bghb B 
 A B C D 
a. 1 2 3 4 
b. 4 3 1 2 
c. 3 4 2 1 
d. 2 3 4 1 

 
89. Plasma without __________ is called serum  

a. Fibrin   b. Fibrinogen    
c. Thrombin   d. Prothrombin 
rPuk; vd;gJ __________ ,y;yhj gpsh];kh MFk;.  
a. /iggphpd;   b. /iggphpNdh[d; 
c. jpuhk;gpd;  d. GNuhj;uhk;gpd;  
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90. Heart weighs about how many grams in an adult? 
a. 200 Grams   b. 300 Grams  c. 400 Grams   d. 500 Grams 
nghpath;fspd; ,jaj;jpd; vil Vwj;jho vj;jid fpuhk; MFk;? 
a. 200 fpuhk;  b. 300 fpuhk;  c. 400 fpuhk;  d. 500 fpuhk;  

 
91. The decrease in blood pressure upon standing is known as _________ 

a. Pnemostatic Hypotension   b. Orthostatic Hypotension  
c. Hydrostatic Hypotension   d. Oncostatic Hypotension 
vOe;J epw;Fk; NghJ ,uj;j mOj;jk; FiwtJ _______ vd;W miof;fg;gLfpwJ. 
a. epNkh];lhl;bf; Fiw mOj;jk;  b. Mu;j;Njh];lhl;bf; Fiw mOj;jk; 
c. i`l;Nuh];lhl;bf; Fiw mOj;jk;  d. Md;Nfh];lhl;bf; Fiw mOj;jk;  

 
92. Which of the followings promotes Vasodilation? 

a. Vasopressin   b. Angiotension II  
c. Angiotension I   d. Natriuretic Peptide  
gpd;tUtdtw;Ws; vJ ,uj;j ehsj;ij tpuptilar;nra;fpwJ? 
a. thN]hg;gpu];]pd;  b. MQ;rpNahnld;rpd;- II 
c. MQ;rpNahnld;rpd;- I d. ehl;upA+upbf; ngg;ilL 

 
93. Which class of algae is used in the manufacture of dynamite? 

a.  Chlorophyceae     b.  Chrysophyceae    
c.  Cryptophyceae     d.  Pheophyceae 
ve;j tFg;G My;fhf;fs; ildikl;L cw;gj;jp nra;tjpy; gad;gLfpd;wd? 
a. FNshNuhigrp  b. fpiuNrhigrp 
c. fphpg;Nlhigrp  d. /NgNahigrp 

 
94. The five Kingdoms proposed by Whittaker are  

a. Monera, Protista, Algae, Fungi, Animalia     
b. Monera, Protozoa, Fungi, Plantae, Animalia    
c. Monera, Protozoa, Bacteria, Plantae, Animalia    
d. Monera, Protista, Fungi, Plantae, Animalia 
tpl;Nlfh; Kd;nkhope;j Ie;J cyfq;fs; 
a. nkhdPuh> GNuhb];lh> My;Nf> /G+Q;ir> mdpkypah    
b. nkhdPuh> GNuhl;NlhNrhth> /G+Q;ir> g;shd;Nl> mdpkypah   
c. nkhdPuh> GNuhl;NlhNrhth> ghf;Bhpah> g;shd;Nl> mdpkypah   
d. nkhdPuh> GNuhb];lh> /G+Q;ir> g;shd;Nl> mdpkypah 

 
95. Which is called as libriform fibres?  

a. Xylem fibres   b. Phloem fibres  
c. Sclerenchyma fibres  d. Xylem parenchyma 
ypg;hp/ ghh;k; ehh;fs; vd miof;fg;gLgit  
a. iryk; ehh;fs;   b. GNshak; ehh;fs;  
c. ];fpsPud;ifkh ehh;fs;  d. iryk; ghud;ifkh  

 
96. Some of the light sensitive seeds-can germinate by the treatment of  hormone is 

a. Auxin  b. Ethylene  c. Gibberellin d. Cytokinin 
Kisj;jYf;F xspj; Njitg;gLk; tpijfs;> KO ,UspNyNa Kisf;f J}z;Lk; ̀ hh;Nkhd; 
a. Mf;]pd;  b. vj;jpypd;  c. [pg;uypd;  d. irl;Nlhifdpd; 

 
97. Agglutinogens are not found in blood group 

a. B    b. A    c. AB   d. O 
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ciwjy; (jpul;ly;fs;) ,y;yhj ,uj;j tif  
a. B    b. A    c. AB   d. O 

 
98. Consider the following 

Statement : There is passive movement of nearly 70% blood from  
auricle into ventricle. Remaining 30% is pumped into ventricles by artirial contraction, 
Reason : Opening of the atrio-ventricular valves  
a. Statement in correct. Reason is wrong  
b. Statement and reason are correct 
c. Statement and reason are wrong 
d. Statement is correct but the reason is not explaining the statement 
$w;W : Vl;upaq;fspypUe;J ntd;l;hpf;fps;fSf;Fs; 70% ,uj;jk; jhdfNt ke;j epiyapy; 
fPopwq;FfpwJ. vQ;rpa 30% ntd;l;hpf;fps;fSf;Fs; Vl;hpa  
RUf;fj;jhy; jpzpf;fg;gLfpwJ. 
fhuzk; : Vl;hpNah ntd;l;hpf;Fyhh; thy;Tfs; jpwg;gjhy; 
a. $w;W rhp> fhuzk; jtW    
b. $w;W rhp> fhuzk; rhp  
c. $w;W jtW> fhuzk; jtW   
d. $w;W rhp fhuzk; $w;iw tpsf;f tpy;iy 

 
99. A problem with development of Red blood cell called as 

a. Anemia                         b. Polycythemia 
c. Dyserythropoiesis              d. Yolk sac 
,uj;j rptg;G mZf;fs; cUthtjpy; Vw;gLk; gpur;ridapdhy; tUk; ghjpg;G vd;d? 
a. mdPkpah    b. ghypirj;Njkpah 
c. ilrh;j;NuhNgh[p];  d. Nahf; rhf; 

 
100. Where is the strongest muscle of the human body located? 

a. Jaw   b. Nose  c. Ear   d. Neck 
kdpj clypy; tYthd jir vq;Fs;sJ?  
a. jhil  b. %f;F  c. fhJ  d. fOj;J  

 
101. Which of the following will show Tyndall effect?  

a. Milk b. salt solution   c. Vinegar   d. sulphur in water  
gpd;tUtdtw;Ws; vJ bz;lhy; tpisit ntspg;gLj;Jk;?  
a. ghy; b. cg;G fiury;  c. tpdpfh;  d. ePhpYs;s ry;gh;  

 
102. 18Ar40, 20Ca40 are example of  

a. Isotopes   b. Isomers   c. Isotones   d. isobars  

18Ar40, 20Ca40  vjd; vLj;Jf;fhl;L  
a. INrhNlhg;Gfs; b. INrhkh;fs;  c. INrhNlhd;fs; d. INrhghh;fs;  

 
103. Match the following   

Group number    Families  
A. 14    1. Noble gases  
B. 15     2. Nitrogen family  
C. 17    3. Carbon family 
D. 18    4. Halogens 
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 A  B C D 
a. 2 3 4 1 
b. 3 2 4 1  
c. 3 2 1 4  
d. 2 3 1 4  
nghUj;Jf:  
njhFjp vz;   njhFjpfs;  
A. 14    1. ke;j thAf;fs;  
B. 15    2. iel;u[d; FLk;gk;  
C. 17    3. fhh;gd; FLk;gk;  
D. 18    4. `hy[d;fs;  
 A  B C D 
a. 2 3 4 1 
b. 3 2 4 1  
c. 3 2 1 4  
d. 2 3 1 4  

 

104. Match the following:  
 Salt     Molecular Formula  
A. Washing soda    1. NaHCO3 
B. Baking soda   2. CaOCl2 
C. Bleaching Powder   3. CaSo4. ½H2O  
D. Plaster of Paris    4. Na2CO3  
  A B C D 
a. 1 2 4 3  
b. 4 1 2 3  
c. 4 2 3 1  
d. 1 4 3 2 
nghUj;Jf:  
 cg;G    %yf;$Wtha;g;ghL  
A. ryit Nrhlh  1. NaHCO3 
B. rikay; Nrhlh   2. CaOCl2  
C. ryitj; J}s;   3. CaSO4. ½H2O  
D. ghhp]; rhe;J   4. Na2Co3  
 A B C D 
a. 1 2 4 3  
b. 4 1 2 3  
c. 4 2 3 1  
d. 1 4 3 2 
 

105. Match the following:  
 Drugs   Examples  
A. Antipyretics   1. Iodoform  
B. Antiseptics   2. Aspirin 
C. Antimalarial  3. Penicillin  
D. Antibiotics   4. Chloroquine  
 A B C D 
a. 2 1 3 4 
b. 2 1 4 3  
c. 1 2 3 4 
d. 1 2 4 3  
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nghUj;Jf:  
 kUe;Jfs;    cjhuzk;  
A. fha;r;ry; epthuzp   1. mNahNlhghh;lk;  
B. Giuj;jLg;ghd;    2. M];gphpd;  
C. kNyhpah epthuzp  3. ngdprpypd;  
D. Ez;Zaph; vjphpfs;   4. FNshNuhFapd;  
 A B C D 
a. 2 1 3 4 
b. 2 1 4 3  
c. 1 2 3 4 
d. 1 2 4 3  
 

106. The Lanthanides and Actinides are called. 
a. Transition Elements   b. Inner transition elements 
c. salgogen family    d. Innert gases  
yhe;jidLfs; kw;Wk; Mf;bidLfs; vt;thW miof;fg;gLfpd;wd?  
a. ,ilepiyj; jdpkq;fs;   b. cs; ,ilepiyj; jdpkq;fs;  
c. rhy;Nfh[d; FLk;gk;  d. ke;j thAf;fs;  

 
107. Match the following  

 Metal   Chief ore  
A. Aluminium   1. Hematite  
B. Iron    2. Bauxite 
C. Manganese   3. Galena  
D. Lead    4. Pyrolusite  
 A B C D 
a. 1 2 4 3  
b. 2 1 4 3  
c. 2 1 3 4  
d. 1 2 3 4  
nghUj;Jf: 
 cNyhfk;   Kjd;ik jhJ  
A. mYkpdpak;  1. N`kill; 
B. ,Uk;G   2. ghf;irl;  
C. khq;fdPR    3. fyPdh  
D. fhhPak;   4. igNuhY}irl;  
 A B C D 
a. 1 2 4 3  
b. 2 1 4 3  
c. 2 1 3 4  
d. 1 2 3 4  

 
108. Calculate the pH Value of 0.01 M HNO3   

a. 4   b. 3  c. 2  d. 1  
0.01 M HNO3 fiurypd; pH kjpg;G fhz;f.  
a. 4   b. 3  c. 2  d. 1  
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109. Rectified Spirit containg  
a. 95.5% of ethanol and 4.5% of water  
b. 100% pure alcohol  
c. 4.5% of ethanol and 95.5% of water  
d. 50% of ethanol and 50% of water  
vhprhuhak; vd;gJ  
a. 95.5% vj;jdhy; kw;Wk; 4.5% ePh;  
b. 100% J}a My;f`hy;  
c. 4.5% vj;jdhy; kw;Wk; 95.5% ePh;  
d. 50% vj;jdhy; kw;Wk; 50% ePh;  

 
110. Ethanol is used as  

a. a preservative for biological specimen 
b. an antifreeze  
c. antiseptic  
d. all the above   
vj;jdhypd; gad;  
a. caphpay; khjphpfisg; ghJfhf;f       
b. ciwjy; jLg;ghd; 
c. caph;vjph; nghUs;        
d. Nkw;fz;l midj;Jk;  
 

111. TMF value of good soap  
a. Zero   b. low value   c. High value   d. one  
rpwe;j Fspay; Nrhg;Gfspd; TFM kjpg;G  
a. G+[;[pak;  b. FiwT   c. mjpfk;  d. xd;W  

 
112. What is the other name of the Methanol? 

a. Dead plant fossil  b. Ethanol   c. Bio diesel  d. Grease  
 nkj;jdhypd; kWngah; vd;d?  
 a. ku Cuy;   b. vj;jdhy;  c. gNah Bry;  d. fphP];  
 
113. What is the particle mixed in the E10 fuel? 

a. 10% Ethanol (+) 90% Petrol b. 10% Petrol (+) 90% Ethanol  
c. 85% Ethanol (+) 15% Petrol d. 20% Ethanol (+) 80% Petrol 

 E 10 vd;w vhpnghUspy; fye;Js;s nghUl;fs; ahit?  
 a. 10% vj;jdhy; + 90% ngl;Nuhy;  
 b. 10% ngl;Nuhy; + 90% vj;jdhy;  
 c. 10% vj;jdhy; + 15% ngl;Nuhy;  
 d. 20% vj;jdhy; + 80% ngl;Nuhy;  
 
114. Which of the following is a mineral of iron? 

a. Pyrolusite  b. Cassiterite   c. Malachite   d. Magnetic    
 gpd;tUdtw;Ws; ,Uk;G fdpkk; vJ?  
 a. iguhYirl; b. fhrpl;liul;  c. khyifl;  d. Nkf;dill; 
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115. Which statement is correct? 
I. Wohler synthesised organic compound (urea) from an inorganic compound  

ammonium cyanate. 
II. Wohler synthesised inorganic compound (urea) from an organic compound 

ammonium cyanate. 
III. Wohler synthesised organic compound (urea) from an inorganic compound 

ammonium isocyanate. 
A. I and III  B. II and III  C. I and II  D. I only 

  rhpahd tpilia Njh;e;njL 
I. Nthyh;> A+hpah vd;Dk; fhpkr; Nrh;kj;ij mk;Nkhdpak; raNdl;L vd;w fdpkr; 

Nrh;kj;jpypUe;J jahhpj;jhh;. 
II. Nthyh;> A+hpah vd;Dk; fdpkr; Nrh;kj;ij mk;Nkhdpak; raNdl;L vd;w fhpkr; 

Nrh;kj;jpypUe;J jahhpj;jhh;. 
III. Nthyh;> A+hpah vd;Dk; fhpkr; Nrh;kj;ij mk;Nkhdpak; INrhraNdl;L vd;w fdpkr; 

Nrh;kj;jpypUe;J jahhpj;jhh;. 
A. I and III  B. II and III  C. I and II  D. I only 

 
116. Super phosphate of lime contains 

A. Ca3(PO4)  B. CaHPO4  C. H3PO4  D. Ca(H2PO4)2  
#g;gh; gh];Ngl; - iyk; vd;w cuj;jpy; ,Ug;gJ 
A. Ca3(PO4)  B. CaHPO4  C. H3PO4  D. Ca(H2PO4)2 

 
117. The antidote for organophosphate poisoning is 

a. Pyridine     b. (BAL) British anti-lewisite 
c. Pyridine aldoxime methiodide  d. Acetylcholine esterase 

     Mh;fNdhgh];Ngl; tp~j;jpw;fhd vjph;kUe;J 
  a. g;hpbd;        

b. (BAL) gphpl;b~; Md;b Y}apirl;     
c .g;hpbd;  My;lhfi]k;  nkijNahilL   
d. mrpily; nfhyd; v];l;lNu]; 

 
118. Sun Screen lotion contains 

a. TiO2  b. Aucl2  c. Agcl  d. ptcl2 
Ntdpw;fhy jpiuf;fspk;gpy; (rd;];fphPd; Nyh~d;) gad;gLk; nghUs;  vd;d? 
a. TiO2  b. Aucl2  c. Agcl  d. ptcl2 

 
119. Producer gas is a mixture of 

a. CO2 + N2  b. CO2 + N2O  c. CO + N2  d. CO + H2O 
cw;gj;jp thAtpd; fyit vd;gJ 
a. CO2 + N2  b. CO2 + N2O  c. CO + N2  d. CO + H2O 
 

120. Which of the following statements are correct? 
I. Butane is used in LPG cylinder 
II. Propane is the lowest hydrocarbon 
a. I only  b. II only  c. I and II  d. None of these 
gpd;tUtdtw;Ws; rhpahd $w;Wfis Njh;f 
I. LPG cUisapy; gpa+l;Nld; gad;gLfpwJ 
II. kpf vspikahd i`l;Nuh fhh;gd; Gug;Ngd; 
a. I kl;Lk;  b. II kl;Lk;  c. I kw;Wk; II d. ,it VJkpy;iy 
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121. Which of the following statements is/are correct about Inertia? 
1. An athlete runs some distance before jumping  
2. When making a sharp turn while driving a car, you tend to lean sideways   
3. When vigorously shaking branches of tree some fruits and leaves fall down 
a. 1, 2, 3 are incorrect  b. only 1, 2, are correct  
c. Only 3 is correct    d. 1, 2, 3 are correct    
gpd;tUtdtw;Ws; vit epiykj;jpw;fhd vLj;Jf;fhl;Lfs; 
1. ePsk; jhz;Lk; Nghl;bahsh; jhz;Lk;Kd; rpwpJJ}uk; XLtJ 
2. XLk; kfpOe;J tisghijapy; nry;Yk;NghJ gazpah; xU gf;fkhf rha;tJ 
3. fpisfis cYf;fpagpd; kuj;jpypUe;J fPNo tpOk; ,iyfs; 
a. 1>2>3 Mfpa %d;Wk; jtW b.1>2 kl;Lk; rhp 
c. 3 kl;Lk; rhp   d. 1>2>3 Mfpa %d;Wk; rhp 

 
122. Why the fielder in cricket pulls back his hands while catching the ball 

a. To decrease impulse by increasing of catch  
b. To increase impulse by increasing time  
c. To decrease impulse by increasing time  
d. a and b  
fphpf;nfl; tpisahl;by; Ntfkhf tUk; ge;jpid gpbf;f tpisahl;LtPuh; ifapid 
gpd;Ndhf;fp ,Of;f fhuzk; 
a. Nkhjy; fhyj;ij Fiwj;J fzj;jhf;F tpirapid Fiwf;f  
b.Nkhjy; fhyj;ij mjpfhpj;J fzj;jhf;F tpiria mjpfhpf;f 
c. Nkhjy; fhyj;ij mjpfhpj;J fzj;jhf;F tpiriaf; Fiwf;f  
d. a and b  

 
123. Match the following: 

A. Sclera   1. Thin and Transparent layer of the eye ball 
B. Cornea   2. Coloured part of the eye     
C. Iris    3. Protects the internal parts of the eyes  
D. Retina  4. Back surface of the eye 
  A B C D 
a. 3 1 2 4 
b. 3 1 4 2 
c. 1 3 2 4 
d. 1 2 3 4  
gl;bay; I I II cld; nghUj;Jf. 
A.];fpspuh   1. tpopf;Nfhsj;jpd; nky;ypa xspGFk; glyk; 
B. fhh;dpah   2. fz;zpd; epwKila gFjp 
C. Ihp];   3. fz;zpd; cs;SWg;Gfisg; ghJfhf;Fk; rt;T 
D. nul;bdh   4. tpopf;Nfhsj;jpd; gpd;Gw cl;gug;G 

  A B C D 
a. 3 1 2 4 
b. 3 1 4 2 
c. 1 3 2 4 
d.  1 2 3 4  

 
124. A person with Myopia can see objects at a distance of 4m. If he wants to see objects at a 

distance of 20 m, then the power of lens? 
a. -0.5 D  b. -0.2 D  c. 0.5 D  d. 0.2 D   
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fpl;lg;ghh;it FiwghL cila xU kdpjuhy; 4kP njhiytpy; cs;sg;nghUs;fis kl;LNk 
fhz ,aYk;. mth; 20kP njhiytpYs;s nghUis fhz tpUk;gpdhy; 
gad;gLj;jg;glNtz;ba Fopnyd;rpd; FtpanjhiyT? 
 a. -0.5 D  b. -0.2 D  c. 0.5 D  d. 0.2 D   

 
125. Match the following: 

Components     Uses  
A. Resistor     1. To indicate the direction of current  
B. Rheostat   2. To fix the magnitude of the current through a circuit  
C. Ammeter  3. To measure the potential difference  
D. Volt meter  4. To measure the current  
E. Galvanometer  5. To select the magnitude of the current through a circuit      
  A B C D E 
a. 2 4 5 1 3 
b. 2 4 5 3 1 
c. 2 5 4 3 1 
d. 2 5 4 1 2   
gl;bay; I I II cld; nghUj;Jf. 
A. kpd;jilahf;fp 1. kpd;Ndhl;lj;jpd; jpiriaf; fz;lwpa 
B. kpd;jilkhw;wp 2. kpd;Rw;wpy; ghAk; kpd;Ndhl;lj;jpd; msit eph;zapf;f 
C. mk;kPl;lh;  3. kpd;dOj;j NtWghl;il mstpl 
D. Nthy;l; kPl;lh; 4. kpd;Ndhl;lj;ij mstpl 
E. fhy;tNdhkPl;lh; 5. kpd;Ndhl;lj;jpd; msit Njh;e;njLf;f 

   A B C D E 
a. 2 4 5 1 3 
b. 2 4 5 3 1 
c. 2 5 4 3 1 
d. 2 5 4 1 2  

 
126. Which of the following statement is/are correct? 

1. Nichrome is a conductor with highest resistivity  
2. Resistivity of Nichrome is 1.5х10-6 Ωm  
3. Used in making heating elements like Iron box, heater  
a. 1, 2, 3 are incorrect  b. 1, 2 are correct  
c. 2, 3 are correct    d. 1, 2, 3 are correct   
gpd;tUk; $w;Wfspy; vit rhpahdJ? 
1. epf;Nuhk; kpf cah;e;j kpd;jil vz; nfhz;l flj;jp 
2. ,jd; kpd;jil vz; kjpg;G 1.5х10-6 Ωm  
3. kpd;ryitg;ngl;b> kpd;#Nlw;wp Nghd;w ntg;gNkw;Wk; rhjdq;fspy; gad;gLfpwJ. 
a. 1, 2, 3 jtW  b. 1, 2 rhp  c. 2, 3 rhp  d. 1, 2, 3 rhp 

   
127. An electric heater of resistance 5Ω is connected to an electric source. If a current of 6A 

flows through the letters, then find the amount of heat produced in 5 Minutes? 
a. 54J  b. 540 J c. 5400J  d. 54000J  
5Ω kpd;jil nfhz;l kpd;#Nlw;wp xU kpd; %yj;Jld; ,izf;fg;gLfpwJ.  6A kpd;Ndhl;lk; 
#Nlw;wptopahf gha;fpwJ vdpy; 5 epkplq;fspy; cUthFk; ntg;gj;jpd; msT? 
a. 54J  b. 540 J c. 5400J  d. 54000J  
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128. Which of the following statements is/are correct? 
1. Sound does not need any medium for its propagation 
2. Sound waves are longitudinal waves  
3. Sound waves travel in air with a speed of about 340ms-1 at NTP 
4. Wave length ranges from 1.65 cm to 1.65m  
a. 1, 2, 3 are correct  b. 1, 2, 3, 4 are correct  c. 2, 3, 4 are correct  d. 3, 4 are correct  
gpd;tUk; $w;Wfspy; vit rhpahdJ? 
1. xyp gut Clfk; Njitapy;iy. 
2. xyp miyfs; nel;liyfs; 
3. xyp miyfs; 340kPtp-1 jpirNtfj;jpy; guTk;. 
4. xyp miyfs; 1.65 nr.kP Kjy; 1.65 kP tiu miyePsk; nfhz;lit. 
a. 1, 2, 3 rhp  b. 1, 2, 3, 4 rhp  c. 2, 3, 4 rhp   d. 3, 4 rhp 

 
129. Consider the following statement: 

Assertion (A): The sound produces during rainy season can be hear clearly  
Reason (R): Speed of sound increase with the increase of humidity  
a. Both A and R are two and R is the correct explanation of A 
b. A is true, R is false  
c. A is false, R is true  
d. Both A and R are true and R is the not the correct explanation of A    
gpd;tUk; $w;Wfis Muha;f. 
$w;W(A): kiof;fhyq;fspy; njhiytpypUe;J tuf;$ba xypiaj; njspthf Nfl;fyhk;. 
fhuzk; (R):  fhw;wpd; <ug;gjk; mjpfhpf;Fk;NghJ xypapd; jpirNtfKk; mjpfhpf;fpwJ. 
a. A kw;Wk; R ,uz;Lk; rhp NkYk; R vd;gJ A tpw;F rhpahd tpsf;fk; 
b. A rhp Mdhy; R jtW  
c. A  jtW Mdhy; R rhp  
d. A kw;Wk; R ,uz;Lk; rhp NkYk; R vd;gJ A tpw;F rhpahd tpsf;fky;y 

 
130. Match list I with list II 

  List I   List II      
A. One curie   1. 106 disintegrations per second 
B. One Rutherford  2. 3.7 x 1010 disintegrations per second 
C. One Becquerel  3. Radioactive unit of gamma () and x- rays 

D. One Roentgen  4. S.I unit of Radio activity. 
  A B C D 
a 1 2 3 4 
b 2 1 3 4 
c 2 1 4 3   
d 4 3 2 1 
gl;bay; I I II cld; nghUj;Jf. 
gl;bay; I    gl;bay; II 
A.xU fpa+hp  1. 106 fjphpaf;f rpijTfs; / tpdhb 
B. xU &jh;/Nghh;L 2. 3.7 x 1010 rpijTfs; / tpdhb 
C. ngf;nfhuy;  3.fhkh () kw;W x fjph;fspd; fjphpaf;fj;jpd; myF 

D. uhz;l;[d;  4. fjphpaf;fj;jpd; S.I myF 
   A B C D 
a 1 2 3 4 
b 2 1 3 4 
c 2 1 4 3   
d 4 3 2 1 
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131. Match List I with List II  
  List I    List II 
Radio active isotopes  Application 
A. Na – 24    1. Treatment of skin cancer 
B. I – 131    2. Thyroid treatment 
C. P – 32    3. Effective functioning of heart 
D. Co – 60 and AU – 198 4. Treatment of skin diseases and crop production 
E. Fe – 59    5. Anaemia treatment 

  A B C D E 
a. 2 4 1 5 3 
b. 4 2 3 1 5 
c. 3 2 4 1 5  
d. 1 2 3 4 5 
gl;bay; I I II cld; nghUj;Jf. 
gl;bay; I      gl;bay; II 
fjphpaf;f INrhNlhg;Gfs;  gad;ghL 
 A. Na – 24    1. Njhy; Gw;WNeha; rpfpr;ir 
 B. I – 131    2. ijuha;L rpfpr;ir 
 C. P – 32    3. ,jak; rPuhf nray;gl> 
 D. Co – 60 and AU – 198  4. Njhy; Neha; rpfpr;ir> gaph; cw;gj;jp 
 E. Fe – 59    5. ,uj;j Nrhif rpfpr;ir 
  A B C D E 
a. 2 4 1 5 3 
b. 4 2 3 1 5 
c. 3 2 4 1 5  
d. 1 2 3 4 5 

 
132. Identify the incorrectly matched Paris among the following 

I. Magnesium  - Crackers  
II. Gallium   - Mobile Phones 
III. Silicon   - Computer chips  
IV. Graphite   - Good conductor of electricity 
a. II and III only   b. I and II only  
c. I, II and IV Only   d. None of the above 
jtwhd ,izfis fz;lwpf. 
I. nkf;dPrpak; - ntbg; nghUs;fs; 
II. fhypak; - miyNgrp 
III. rpypf;fhd; - fzpdp rpg;Gfs; 
IV. fpuhigl; - kpd;rhu flj;jp 
a. II kw;Wk; III kl;Lk;  b. I kw;Wk; II kl;Lk; 
c. I, II kw;Wk; IV kl;Lk; d. Nkw;$wpa vJTkpy;iy  

 
133. Which of the following statement/s is/are true?  

I. Raster Graphics are created on the basis of Mathematics  
II.  Vector Graphic are created on the basis of pixels  
III. Vector is more accurate that Raster Graphics 

a. I and II only  b. III only   c. I, II and III   d. None of the above 
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gpd;tUk; $w;Wfspy; rhpahdJ vJ? 

I. uh];lh; (Raster) tiufiyg; glq;fs; fzpjj;jpd; mbg;gilapy; cUthf;fg;gLfpwJ. 
II. ntf;lh; (Vector) tiufiyg; glq;fs; glg;Gs;spfis (pixels) mbg;gilapy; 

cUthf;fg;gLfpwJ. 
III. ntf;lh;> uh];lh; tiufiyg; glq;fisf; fhl;bYk; Jy;ypakhdJ. 

a. I kw;Wk; II kl;Lk;     b. III kl;Lk;    
c. I, II kw;Wk;  III   d. Nkw;$wpa vJTkpy;iy 
 

134. Why mercury is used in thermometer?  
I. Expansion of mercury is uniform  
II. Only metal in liquid state  
III. Low boiling point and high freezing point  
IV. Opaque and shining  

a. I and IV only    b. II and III only  
c. I, II and IV only    d. I, II, III and IV  
Vd; ghjurk; ntg;gepiykhdpfspy; gad;gLj;jg;gLfpd;wJ? 

I. ghjurk; rPuhf tphptilfpwJ 
II. jput epiyapy; cs;s xNu cNyhfk; 
III. Fiwe;j nfhjpepiyAk; mjpf ciwepiyAk; nfhz;lJ. 
IV. Xsp CLUthjJ kw;Wk; gsgsg;ghdJ 

a. I kw;Wk; IV kl;Lk;     b. II kw;Wk;  III kl;Lk;    
c. I, II kw;Wk;  IV kl;Lk;     d. I, II, III kw;Wk;  IV  

 
135. The Minimum and the Maximum temperature of a clinical thermometer are,  

a. 35°C, 42°C  b. 32oC, 45oC  c. 90°F, 118°F  d. 37°C, 110°C 
kUj;Jt ntg;gepiykhdpapd; Fiwe;jgl;r kw;Wk; mjpfgl;r ntg;gepiy 
a. 35°C, 42°C  b. 32oC, 45oC  c. 90°F, 118°F  d. 37°C, 110°C 
 

136. Arrange the following in ascending order based on their electrical conductivity  
I. Silver   II. Annealed Copper  III. Copper  IV. Aluminum  
a. IV, II, III, I  b. IV, III, II, I c. I, IV, II, III d. IV, I, III, II 
gpd;tUtdtw;iw mtw;wpd; kpd;flj;Jj;jpwdpw;F Vw;g VWthpirapy; xOq;FgLj;Jf. 
I. nts;sp II. Jz;lhf;fg;gl;l jhkpuk;  III. jhkpuk; IV. mYkpdpak; 
a. IV, II, III, I  b. IV, III, II, I c. I, IV, II, III d. IV, I, III, II 

 
137. Nichrome is an alloy of  

a. Nickel and Chromium    b. Nickel, Iron and chromium  
c. Nickel, Manganese and Chromium  d. Nickel and steel  
epf;Nuhk; vjdhy; Md cNyhff; fyit 
a. epf;fy; kw;Wk; FNuhkpak;   b. epf;fy;> ,Uk;G kw;Wk; FNuhkpak; 
c. epf;fy;> khq;fdP]; kw;Wk; FNuhkpak; d. epf;fy; kw;Wk; v/F 
 

138. Match the following and choose the correct one:  
A. Retilinear propagation of light   1. Umbra  
B. Reflection     2. Prism  
C. Shadow      3. Pinhole camera  
D. Spectrum     4. Mirror  
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  A B C D 
a. 3 2 1 4 
b. 3 4 2 1 
c. 4 3 1 2 
d. 3 4 1 2 
nghUj;Jf. 
A. Xspapd; Neh;f;Nfhl;Lg; gz;G  1. fUepoy; 
B. Xspapd; vjpnuhspj;jy;   2. Kg;gl;lfk; 
C. epoy;fs;     3. Crpj;Jis fhkpuh 
D. epwkhiy     4. fz;zhbj;Jz;L 

A B C D 
a. 3 2 1 4 
b. 3 4 2 1 
c. 4 3 1 2 
d. 3 4 1 2 
 

139. Which of the following are correctly matched?  
I. Spiral galaxy - Bulge surrounded by hole of stars  
II. Elliptical Galaxy - Young stars than spiral galaxies  
III. Irregular galaxy - Deformed galaxies by uneven external gravity  
IV. Barrel spiral - Milky way galaxy  

a. I and III only    b. I, II and IV only  
c. I, III and IV only    d. III and IV only  
fPo;tUtdtw;Ws; vit rhpahf nghUe;jpAs;sJ? 
I. RUs; tpz;kPd; jpus;  - kj;jpapy; el;rj;jpu nrwpT kpfTk; kq;fyhd xsptl;lj;jhy; 

#og;gl;Ls;sJ. 
II. ePs;tl;l tpz;kPd; jpus; - Roy; tpz;kPd; jpuspy; cs;sij tpl Fiwe;j taJila 

tpz;kPd;fs; 
III. xOq;fw;w tpz;kPd; jpus; -rPuw;w ntspg;Gw <h;g;Grf;jpahy; cUkhw;wg;gl;lJ 
IV. Nfhbl;l RUs; tpz;kPd; jpus; - ghy;tspj; jpus; 
a. I kw;Wk;  III kl;Lk;   b. I, II kw;Wk; IV kl;Lk; 
 c. I, III kw;Wk;  IV kl;Lk;  d. III kw;Wk;  IV kl;Lk; 

 
140. Match the following and choose with respect to exception of physical properties of metals. 

 Property  Metal exception 
A. Lustre   1. Potassium 
B. Hardness   2. Tungsten 
C. Tensile strength  3. Calcium 
D. Conductivity  4. Antimony 
 A B C D 
a.  3 1 4 2 
b.  3 1 2 4 
c. 1 4 2 3 
d. 1 4 3 2 
cNyhfq;fspd; ,aw;gpay; gz;Gfspd; tpjptpyf;Ffisg; nghUj;J fPo;tUgdtw;iwg; 
nghUj;jp rhpahd tpiliaj; Njh;T nra;f. 
,aw;gpay; gz;G    cNyhf tpjptpyf;F 
A. cNyhfg; gsgsg;G  1. nghl;lhrpak; 
B. fbdj;jd;ik   2. lq;];ld; 
C. jphpG jhq;Fk; gz;G  3. fhy;rpak; 
D. flj;Jj; jpwd;   4. Mz;bkdp 
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 A B C D 
a.  3 1 4 2 
b.  3 1 2 4 
c. 1 4 2 3 
d. 1 4 3 2 

 
141. Arrange the following units of memory in ascending order. 

I. Kilo byte   II. Tera byte  III. Giga byte  
IV. Zetta byte  V. Yota byte  VI. Mega byte 
a. I, II ,VI, III, IV, V  b. I, VI, II, III, V, IV 
c. I, VI, III, II, V, IV  d. I, VI, III, II, IV, V 
gpd;tUk; epidtfj;jpd; myFfis VWthpirapy; thpirg;gLj;Jf. 
I. fpNyh igl;  II. nluh igl; III. [pfh igl; 
IV. rPl;lh igl;  V. Nahl;lh igl; IV nkfh igl; 
a. I, II, VI, III, IV, V  b. I, VI, II, III, V, IV 
c. I, VI, III, II, V, IV  d. I, VI, III, II, IV, V 

 
142. Consider the following statement: 

Assertion (A): Temperature inside igloo is warm  
Reason (R): Snow is a poor conductor of heat 
a. (A) alone is correct (R) is incorrect 
b. (A) and (R) are correct and (R) is the correct explanation of (A) 
c. (A) and (R) are incorrect 
d. (A) and (R) are correct get (R) is not the correct explanation of (A) 
gpd;tUtdtw;iw Ma;f. 
$w;W (A): ,f;Y} vdg;gLk; gdp tPLfspy; cs;gFjpapd; ntg;gepiy Rw;Wg;Gwj;ijtpl 
mjpfkhf ,Uf;Fk;. 
fhuzk; (R): gdpf;fl;b ntg;gj;ij kpfTk; mhpjhff; flj;jf; $baJ. 
a. (A) kl;Lk; rhp (R) jtW 
b. (A) kw;Wk; (R) ,uz;Lk; rhp NkYk; (R)> (A) tpw;fhd rhpahd tpsf;fkhFk;. 
c. (A) kw;Wk; (R) ,uz;Lk; jtW 
d. (A) kw;Wk; (R) ,uz;Lk; rhp> Mdhy; (R)> (A) tpw;fhd rhpahd tpsf;fky;y 

 
143. Consider the following statement: 

Assertion (A): We are advised to wear white cloth during summer. 
Reason (R): White colour absorbs heat radiation. 
a. (A) alone is correct (R) is incorrect 
b. (A) and (R) are correct and (R) is the correct explanation of (A) 
c. (A) and (R) are incorrect  
d. (A) and (R) are correct get (R) is not the correct explanation of (A) 
gpd;tUtdtw;iw Ma;f. 
$w;W (A): Nfhilf; fhyq;fspy; ntz;ikepw Milfis cLj;JkhW ehk; 
mwpTWj;jg;gLfpNwhk;. 
fhuzk; (R): ntz;ik epwkhdJ ntg;gf; fjph;tPr;rpid Vw;Fk; jd;ikAilaJ. 
a. (A) kl;Lk; rhp (R) jtW 
b. (A) kw;Wk; (R) ,uz;Lk; rhp NkYk; (R)> (A) tpw;fhd rhpahd tpsf;fkhFk;. 
c. (A) kw;Wk; (R) ,uz;Lk; jtW 
d. (A) kw;Wk; (R) ,uz;Lk; rhp> Mdhy; (R)> (A) tpw;fhd rhpahd tpsf;fky;y 
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144. Consider the following statement: 
Assertion (A): Thermos flask is silvered on the inside. 
Reason (R): The silvered walls absorbs the radiated heat to keep the liquid warmer. 
a. (A) alone is correct (R) is incorrect 
b. (A) and (R) are correct and (R) is the correct explanation of (A) 
c. (A) and (R) are incorrect 
d. (A) and (R) are correct get (R) is not the correct explanation of (A) 
gpd;tUtdtw;iw Ma;f. 
$w;W (A): ntg;gf; FLitapd; cs;GwkhdJ rpy;tuhy; MdhJ. 
fhuzk; (R): FLitapy; cs;s rpy;th; Rth;> ntg;gf;fjph; tPr;rpid cwpQ;rpf; nfhs;tjhy;> 
ePz;l Neuk; jputk; #lhf ,Uf;fpwJ. 
a. (A) kl;Lk; rhp (R) jtW 
b. (A) kw;Wk; (R) ,uz;Lk; rhp NkYk; (R)> (A) tpw;fhd rhpahd tpsf;fkhFk;. 
c. (A) kw;Wk; (R) ,uz;Lk; jtW 
d. (A) kw;Wk; (R) ,uz;Lk; rhp> Mdhy; (R)> (A) tpw;fhd rhpahd tpsf;fky;y 

 
145. Which of the following are correctly matched?  

1. Terrestrial Planet     - Mars 
2. Airless and waterless Planet   - Mercury  
3. Morning star     - Venus 
4. Jovian Planet     - Neptune  
a. 2 and 3 are correct    b. 1, 2 and 3 are correct  
c. 1 and 3 are correct    d. 1, 2, 3 and 4  
fPo;tUtdtw;Ws; vit rupahf nghUe;jpAs;sJ?  
1. Gtpepfu; Nfhs;     - nrt;tha; 

 2. ePNuh> thAf;fNsh ,y;yhj Nfhs; - Gjd;  
 3. tpbnts;sp     - nts;sp 
 4. tpahod; epfu; Nfhs;   - neg;bA+d;  
 a. 2 kw;Wk; 3 kl;Lk;   b. 1, 2 kw;Wk; 3 kl;Lk;  
 c. 1 kw;Wk; 3 kl;Lk;    d. 1, 2, 3 kw;Wk; 4 

 
146. Which of the following statements is/are true?  

1. Plasma is a state of matter  
2. It is the most common state of matter in the universe  
3. Stars are covered in plasma  
a. 1 only  b. 3 only  c. 1 and 2 only   d. All of the above 
rhpahd $w;Wfis fz;lwpf? 
1. gpsh];kh xU gUg;nghUs; epiy MFk;. 
2. mJ mz;lj;jpy; $Ljyhf fhzg;gLk; xU nghJthd epiyahFk;. 
3. el;rj;jpu kz;lyk; Nru;e;j fyg;G> gpsh];kh epiy MFk;. 
a. 1 kl;Lk;    b. 3 kl;Lk;  
c. 1 kw;Wk; 2 kl;Lk;   d. Nkw;fz;l midj;Jk; 

 
147. Which of the following statements/s is/are true with respect to the characteristics of the 

particles of matter.  
1. Particles of matter have a lot of space between them  
2. Particles of matter do not have mass  
3. Particles of matter attract each other  
a. 1 and 3 only    b. 3 only  
c. 2 and 3 only    d. 1, 2, and 3 
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gUg;nghUs;fspd; rpwg;Gg; gz;Gfisg; nghUj;J gpd;tUk; $w;Wfspy; rhpahdJ vit? 
1. gUg;nghUspd; Jfs;fSf;F ,ilNa mjpf ,ilntsp cs;sJ. 
2. gUg;nghUs; Jfs;fSf;F epiw ,y;iy 
3. gUg;nghUs;fspd; Jfs;fSf;F ,ilNa <u;g;G tpir cs;sJ. 
a. 1 kw;Wk; 3 kl;Lk;   b. 3 kl;Lk; 
c. 2 kw;Wk; 3 kl;Lk;   d. Nkw;fz;l midj;Jk; 
 

148. Identify the correctly matched pairs: 
I. Motion in one dimension – Free fall  
II. Motion in two dimension – Flying of a kite  
III. Motion in three dimension - Bird flying in sky 
a. I and II only   b. I and III Only 
c. I, II and III   d. I only 
gpd;tUtdtw;Ws;> rhpahd ,izfisf; fz;lwpf. 

I. xU ghpkhz ,af;fk; - jilapd;wp jhNd tpOk; nghUs; 
II. ,U ghpkhz ,af;fk; - thdpy; gwf;Fk; gl;lk; 
III. Kg;ghpkhz ,af;fk; - thdpy; gwf;Fk; gwit 

a. I kw;Wk; II kl;Lk;  b. I kw;Wk; III kl;Lk; 
c. I, II kw;Wk; III  d. I kl;Lk; 
 

149. When an insect enters the edge of a antlion trap, it starts to slide because the angle of the 
inclination is made _______ angle of repose 
a. less than  b. greater than  c. equal to d. None of the above 
Fs;shk;G+r;rpapd; Fopf;Fs; rWf;fp tpOk; vWk;G jg;gp nry;y KbahJ Vnddpy; Fopapd; 
rhaNfhzk; rWf;Ff;Nfhsj;ij tpl ____. 
a. FiwT  b. mjpfk;   c. rkk;  d. Nkw;fz;l vJTkpy;iy 

 
150. Shape of shadow cast by Earth on moon during lunar eclipse helped early astronomers in 

proving, 
a. Spherical shape of Earth  b. Heliocentric model 
c. Geocentric model   d. Retrograde motion 
re;jpu fpufzj;jpd; NghJ epyhtpd; kPJ tpOk; Gtp epoypd; tbtj;ijf;  

 nfhz;L goq;fhy thdpay; mwpQh;fs; vij ep&gpj;jdh;? 
a. Gtpapd; Nfhs tbtk;  b. #hpaika Nfhl;ghL 
c. Gtpika Nfhl;ghL   d. Nfhs;fspd; gpd;Ndhf;F jpir 

 


